
 

1 | P a g e  

 
 

Live Leak - IPPB Mains Model 

Question Paper 2016 

English Language 

Q1 –10) Directions: Read the following passage carefully and answer the 

questions given below it. Certain words/ phrases are printed in bold to help 

you to locate them while answering some of the questions. Pay careful 

attention. 

Recent time has witnessed the world economy develop serious difficulties in terms of 

lapse of banking & financial institutions and plunging demand. Prospects became very 

uncertain causing recession in major economies. However, amidst all this chaos India’s 

banking sector has been amongst the few to maintain resilience. A progressively growing 

balance sheet, higher pace of credit expansion, expanding profitability and productivity 

akin to banks in developed markets, lower incidence of nonperforming assets and focus 

on financial inclusion have contributed to making Indian banking vibrant and strong. 

Indian banks have begun to revise their growth approach and re-evaluate the prospects 

on hand to keep the economy rolling. The way forward for the Indian banks is to 

innovate to take advantage of the new business opportunities and at the same time 

ensure continuous assessment of risks. A rigorous evaluation of the health of 

commercial banks, recently undertaken by the Committee on Financial Sector 

Assessment (CFSA) also shows that the commercial banks are robust and versatile. The 

single-factor stress tests undertaken by the CFSA divulge that the banking system can 

endure considerable shocks arising from large possible changes in credit quality, 

interest rate and liquidity conditions. These stress tests for credit, market and liquidity 

risk show that Indian banks are by and large resilient. Thus, it has become far more 
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imperative to contemplate the role of the Banking Industry in fostering the long term 

growth of the economy. With the purview of economic stability and growth, greater 

attention is required on both political and regulatory commitment to long term 

development programme. FICCI conducted a survey on the Indian Banking Industry to 

assess the competitive advantage offered by the banking sector, as well as the policies 

and structures that are required to further the pace of growth. The predicament of the 

banks in the developed countries owing to excessive leverage and lax regulatory system 

has time and again been compared with somewhat unscathed Indian Banking Sector. An 

attempt has been made to understand the general sentiment with regards to the 

performance, the challenges and the opportunities ahead for the Indian Banking Sector. 

A majority of the respondents, almost 69% of them, felt that the Indian banking 

Industry was in a very good to excellent shape, with a further 25% feeling it was in good 

shape and only 6% of the respondents feeling that the performance of the industry was 

just average. In fact, an overwhelming majority (93.33%) of the respondents felt that the 

banking industry compared with the best of the sectors of the economy, including 

pharmaceuticals, infrastructure, etc. Most of the respondents were positive with regard 

to the growth rate attainable by the Indian banking industry for the year 2009-10 and 

2014-15, with 53.33% of the view that growth would be between 15-20% for the year 

2009-10 and greater than 20% for 2014-15. 

On being asked what is the major strength of the Indian banking industry, which makes 

it resilient in the current economic climate; 93.75% respondents feel the regulatory 

system to be the major strength, 75% economic growth, 68.75% relative insulation from 

external market, 56.25% credit quality, 25% technological advancement and 43.75% our 

risk assessment systems. 

Q1. Which of the following has contributed to make Indian banking vibrant and strong? 

1. Progressively growing balance sheet, higher pace of credit expansion and 

expanding profitability. 
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2. Lower incidence of nonperforming assets and focus on financial inclusion. 

3. Higher incidence of nonperforming assets and focus on financial inclusion. 

4. Contracting profitability. 

5. Both 1 and 2. 

Q2. Which word among the following is the most suitable synonym for the word 

“chaos” in the context of the passage? 

1. Orderly 

2. Unruly 

3. Babel 

4. Turmoil 

5. Madness 

Q3. According to the paragraph, what percentage of respondents feels that the Indian 

banking industry is average to good? 

1. 70% 

2. 69% 

3. 31% 

4. 30% 

5. 50% 

Q4.Choose the correct meaning of the word ‘assessment’ as given in the passage. 

1. Judgement 

2. Evaluation 

3. Request 

4. Application 

5. Approved 

Q5.What is the full form of CFSA? 
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1. Committee on Financial Sector Assessment 

2. Committee on Fiscal Sector Assessment 

3. Committee on Financial Sectarian Assessment 

4. Committee on Financial Sector Adaption 

5. Committee on Finance Sector Assessment 

Q6. Choose the correct meaning of the word ‘purview ‘as given in the passage. 

1. Scope 

2. Misconception 

3. Misunderstanding 

4. Sight 

5. Mistake 

Q7. What should be measured to determine the health of the commercial banks? 

1. Small changes in credit quality, interest rates and liquidity conditions 

2. Credit quality, interest rates and liquidity conditions 

3. Credit quality and interest rates 

4. Interest rates and liquidity conditions 

5. Large changes in credit quality, interest rates and liquidity conditions 

Q8. Choose the correct opposite of the word ‘predicament’ as given in the passage. 

1. Plight 

2. Quandary 

3. Pleasant 

4. Boon 

5. Trouble 

Q9. Choose the correct opposite of the word ‘positive’ as given in the passage. 

1. Clear 
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2. Vague 

3. Indefinite 

4. Negative 

5. Uncertain 

Q10. From the given options select the one which promotes the main idea as inferred 

from the passage? 

1. Even though the world economy is facing hard times, the Indian banking sector is 

unscathed though the respondents in a particular survey showed low faith in the 

sector. 

2. The Indian banking sector is hardly developed and needs more regulation and 

policies for its proper development. 

3. Respondents in a particular survey are extremely hopeful regarding the future of 

the Indian banking sector and its resilience in bad economic times. 

4. The Indian banking sector is looked upon by even banks from developed 

countries. 

5. The Indian banking sector is highly resilient even during times of economic 

difficulty and respondents in a recent survey have shown positive reactions to it. 

Q11 – 20) Directions: In the following passage, there are blanks, each of 

which has been numbered. Against each five words are suggested one of 

which fits the blank appropriately. Find out the appropriate word in each 

case. 

Economic growth in the US improved compared to FYQ16, as retail sales __ (A) __ and 

construction activity increased slightly. Labour market data in the US was mixed, with 

some data signalling a slowdown in hiring even as the unemployment rate fell to its 

lowest level since November 2007. __ (B) __ rates in the US barely changed compared 

to FYQ16, remaining at low levels. Euro zone economic data on the other hand remained 
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resilient overall, and inflation rates remained close to zero. In the UK, economic 

momentum remained subdued in light of political uncertainty surrounding the __ (C) 

__ of voters in the UK to leave the European Union. Across major emerging markets, 

the economic picture improved somewhat in Russia, remained weak in Brazil and 

showed signs of stabilization in China. During SYQ16, the US __ (D) __ Reserve (Fed) 

kept interest rates unchanged and signalled it would increase them at a slower pace than 

it had previously indicated. The European Central bank (ECB) began to purchase 

corporate bonds in June, but otherwise left its monetary policy   __ (E) __, with interest 

rates remaining at very low levels. The Bank of Japan delayed making changes to its 

monetary policy, while the Reserve Bank of Australia lowered interest rates again. The 

central banks in India and Russia lowered interest rates, while those in China and Brazil 

left them unchanged. 

Global equity markets finished SYQ16 slightly higher compared to the end of FYQ16, 

generally __ (F) __by improved commodity markets and accommodative monetary 

policies of major central banks. The outcome of the UK referendum on European Union 

membership caused significant __ (G) __ in the financial markets, and led to a sharp 

increase in risk aversion by market __ (H) __, resulting in an equity market selloff in 

the immediate period after the result. In developed markets, Canadian and Australian 

equities exposed to the commodity sector and Swiss and US equities outperformed 

global equity markets. Japanese and Euro zone equity markets significantly 

underperformed. Latin America equities outperformed within emerging markets. The 

energy sector, due to improved fundamentals in the oil market, and defensive sectors, 

such as healthcare and utilities, outperformed other sectors, while cyclical sectors, 

particularly those in the consumer discretionary, financials and IT areas __ (I) __. 

Equity market volatility, as measured by the Chicago Board Options Exchange Market 

Volatility Index (VIX), increased sharply in the period around the UK referendum. Risk 

__ (J) __, as measured by the Credit Suisse Equity Risk Appetite Index, decreased 

during the quarter. The Credit Suisse Hedge Fund Index increased 0.6% in SYQ16. 
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Q11. Which of the following words most appropriately fits the blank labelled (A)? 

1. Constant 

2. Weakened 

3. Strengthened 

4. Destabilized 

5. Diluted 

Q12. Which of the following words most appropriately fits the blank labelled (B)? 

1. Employment 

2. Retrenchment 

3. Depreciation 

4. Deflation 

5. Inflation 

Q13. Which of the following words most appropriately fits the blank labelled (C)? 

1. Notice 

2. Progressive 

3. Attention 

4. Decision 

5. Pronouncement 

Q14. Which of the following words most appropriately fits the blank labelled (D)? 

1. Federal 

2. Federation 

3. Feral 

4. Failure 

5. Foster 

Q15. Which of the following words most appropriately fits the blank labelled (E)? 
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1. Volatile 

2. Unchanged 

3. Fluctuating 

4. Erratic 

5. Variable 

Q16.Which of the following words most appropriately fits the blank labelled (F)? 

1. Supported 

2. Improved 

3. Worsened 

4. Better 

5. Harmed 

Q17.Which of the following words most appropriately fits the blank labeled (G)? 

1. Resistance 

2. Volatility 

3. Stability 

4. Constancy 

5. Firmness 

Q18.Which of the following words most appropriately fits the blank labeled (H)? 

1. Players 

2. Countries 

3. States 

4. Participants 

5. Competitors 

Q19. Which of the following words most appropriately fits the blank labeled (I)? 

1. Overweighed 
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2. Overachieved 

3. Underperformed 

4. Underachieved 

5. Outperformed 

Q20.Which of the following words most appropriately fits the blank labelled (J)? 

1. Resistant 

2. Aversion 

3. Worth 

4. Consideration 

5. Appetite 

Q21-30). Read the sentence to find out whether there is any error in it. The 

error, if any, will be in one part of the sentence. The number of that part is 

the answer. If there is no error, the answer is (5). Ignore errors of 

punctuation, if any. 

Q21. He should be penalized (1) /by the staff of (2) / the laboratory, (3)/ as the flask was 

dropped by he. (4)/ No Error. (5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

Q22.The woman (1)/ is so poor (2)/and she cannot(3)/ save anything for her daily 

needs(4)./no error(5) 

1. 1 

2. 2 

3. 3 
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4. 4 

5. 5 

Q23.It is said that (1)/ the standard of efficiency(2)/ in public service (3)/ had recently 

fallen.(4).No error (5). 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

Q24.Regrettably, the profits earned (1)/by your company fell by (2)/ 20 percent last 

year (3)/ despite of higher sales (4)/ .No error (5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

Q25.He was so rich (1)/that he had hired English butlers (2)/attend his every whim and 

fancy (3)/ at any time of the day (4)/ No Error (5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

Q26. Major problems that affects in the Earth(1)/ today are rising sea levels(2)/, 

unstable temperature fluctuations(3)/, and melting ice caps (4)./ No Error.(5). 

1. 1 
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2. 2 

3. 3 

4. 4 

5. 5 

Q27.The martyrdom (1)/about Sardar Bhagat (2)/Singh created (3)/ a stir. (4)/ No 

error (5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

Q28. The politician, along with (1)/ the newsmen (2)/ are soon to arrive (3/) for the 

inauguration of the museum.(4)/ No error (5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

Q29. In accordance to (1)/ the chartered accountant’s advice (2)/ Ashok took some loan 

(3)/ from a multinational bank (4). No Error (5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 
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Q30. In accordance to (1)/ the chartered accountant’s advice (2)/ Ashok took some loan 

(3)/ from a multinational bank (4). No Error (5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

Q31-35) Rearrange the following six sentences/ group of sentences (A), (B), 

(C), (D) (E) and (F) in the proper sequence to form a meaningful paragraph; 

then answer the questions given below them 

A. However, it is very sad that this custom has been vitiated in our times, and the system 

has become a menace, a social evil in our society. 

B. The system of giving dowry to girls in marriage is an ancient Indian custom.  

C. It is in fact that portion of the parent’s wealth which they wish to give to the daughter 

and this helps the girls in question and the groom to start a home of their own. 

D. Then they are caught between the devil and the deep sea. 

E. Wedding are no longer happy events, but keep the brides, parents on tenterhooks lest 

the groom’s family demand unreasonable gifts on the eve of the weeding. 

F. In fact, quite often, the greedy groom or his parents do demand gift in cash or kind 

such as a motor car, video, etc. which the girl’s parents may not be able to fulfill.  

Q31.Which of the following should be the SECOND sentence after rearrangement? 

1. B 

2. C 

3. A 
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4. D 

5. F 

Q32.Which of the following should be the THIRD sentence after rearrangement? 

1. A 

2. F 

3. E 

4. D 

5. C 

Q33.Which of the following should be the FOURTH sentence after rearrangement? 

1. C 

2. D 

3. E 

4. B 

5. A 

Q34.Which of the following should be the LAST sentence after rearrangement? 

1. A 

2. B 

3. E 

4. D 

5. C 

Q35.Which of the following should be the FIRST sentence after rearrangement? 

1. A 

2. C 

3. F 

4. D 
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5. B 

Q36 - 39) Below are some alternatives which may be used to improve the 

sentence by replacing the word in bold. You may choose option 1, 2, 3 or 4. 

In case no improvement is needed, choose 5. 

 

Q36. Sherman must bared the burden of flunking the math test twice. 

1. bear 

2. bore 

3. bare 

4. beared 

5. No improvement 

Q37.The shaddy toy was broken when it arrived in the mail and I refused to pay a 

single penny for it. 

1. Shady 

2. Shoddy 

3. Flimsy 

4. Delicacy 

5. No improvement 

Q38.We paddled alternately so neither of us would get too tired. 

1. altogether 

2. although 

3. alternatively 

4. altruistically 

5. No improvement 

Q39. Sarah may not be willing to exact her mistake because of the presence of her 

peers in the same hall. 
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1. expect 

2. accept 

3. execute 

4. except 

5. No improvement 

Q40. A sentence with a highlighted word is given below. Some alternatives are given as 

options which may be used to improve the sentence by replacing the word in bold. You 

may choose option 1, 2, 3 or 4. In case no improvement is needed, choose 5. 

 

The mob started melting stones on the vehicles which were parked on the street. 

1. Sending 

2. Giving 

3. Pelting 

4. Exhorting 

5. No improvement 

Reasoning Ability 

Q41-45) Directions: Study the information below and answer the given questions. 

Nine people A, B, C, D, E, F, G, H and J stay in a building, not necessarily in the same 

order. The building has nine floors and only one person stays on one floor. All of them 

own a different coloured jacket, i.e. marron, pink, orange, white, green, black, red, grey 

and blue not necessarily in the same order. The ground floor is numbered 1, the floor 

above it, number 2 and so on and the top most floor is numbered 9. 

F does not own the blue coloured jacket. C owns a pink coloured jacket. H owns a white 

coloured jacket and stays on an even numbered floor. There is one floor between the 

floors on which F and G stay. A stays on an even numbered floor below the floor on 
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which H stays. The one who owns a blue coloured jacket stays on the third floor. A does 

not own a black coloured jacket. There are two floors between the floors on which the 

people owning the red and the white coloured jackets stay. The one who owns a grey 

coloured jacket stays on the fourth floor. There are three floors between the floors on 

which C and G stay. D stays on a floor immediately above J’s floor. The one who owns 

the marron jacket stays on the top-most floor. E stays on the second floor and owns the 

orange coloured jacket. F does not stay on the ground floor. 

Q41. A owns a jacket of which of the following colours? 

1. Grey 

2. Blue 

3. Green 

4. Marron 

5. None of these 

Q42. Who amongst the following stays on the top-most floor? 

1. F 

2. G 

3. D 

4. B 

5. None of these 

Q43. On which of the following floors does B stay? 

1. 1st 

2. 6th 

3. 9th 
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4. 7th 

5. None of these 

Q44. Which of the following is true as per the given information? 

1. B stays on a floor immediately below the floor on which H stays. 

2. D owns the grey coloured jacket and stays on the fourth floor. 

3. G stays on a floor immediately above the floor on which A stays. 

4. F stays on the eighth floor. 

5. None is true. 

Q45. How many floors are there between the floor on which F stays and the floor on 

which C stays? 

1. One 

2. Eight 

3. None 

4. Six 

5. More than three 

Q46-50) Directions: Study the information given below and answer the questions 

based on it. 

In a Chinese family consisting of eight members namely Feng, Ching, Liu, Sui, Jui, Bran, 

Shi and Ming are in a meeting on a round table, and all of them are facing the center but 

not in the same order necessarily. 

Bran is the wife of Sui is sitting third to right of Liu. Feng is the son of Ming. Feng is 

sitting second to left to Sui. Sui is not an immediate neighbor of either Bran or Liu. No 
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male is an immediate neighbor of Sui; Shi sits second to left of Sui’s son. Only two 

persons sit between Ming and Feng’s brother. Neither Liu nor Sui is the brother of Feng. 

Sui’s son and wife of Sui’s son is immediate neighbor of each other. Bran is the mother 

of Ming. Bran is not an immediate neighbor of Ching and Shi is the sister of Jui. 

Q46. Who is sitting opposite to Ching? 

1. Liu 

2. Jui 

3. Shi 

4. Ming 

5. None of these 

Q47. Who is sitting third to the left of Ching? 

1. Feng 

2. Liu 

3. Sui 

4. Ming 

5. None of these 

Q48. Who is the brother of Feng? 

1. Ching 

2. Jui 

3. Shi 

4. Liu 
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5. None of these 

 

Q49. Who is sitting second to the right of Sui? 

1. Ching’s Wife 

2. Sui’s Son 

3. Jui 

4. Shi 

5. None of these 

Q50. Who is the wife of Ching? 

1. Bran 

2. Ming 

3. Liu 

4. Shi 

5. Jui 

Q51-55) Directions: Study the following information carefully and answer the given 

questions. 

In a certain code language, 

‘money is not everything here ’ is written as ‘mu tu nb bi yr’; 

‘here relationships not love matter more’ is written as ‘mu ju bi gi kp br’; 

‘everything not fair in love’ is written as ‘yr bz gi kl bi’; 

‘not money relationships matter alot’ is written as ‘bi tu ju kp qz’. 
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Q51. In the given coded language ‘work is everything’ can be coded as? 

1. tu nb yr 

2. pa la tu 

3. mo kp yr 

4. tu yr nb 

5. pa yr nb 

Q52. In the given coded language ‘matter’ is coded as? 

1. kp 

2. ju 

3. bi 

4. Either ‘kp’ or ‘ju’ 

5. None of these 

Q53. In the given coded language what is the code for ‘love money’? 

1. tu gi 

2. tu kl 

3. tu bi 

4. gi bi 

5. None of these 

Q54. In the given coded language what is the possible code for ‘here is money’? 

1. yr nb mu 
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2. mu ju kp 

3. kp tu mo 

4. mu nb tu 

5. bi kp tu 

Q55. In the given coded language what is the code for ‘everything’? 

1. bi 

2. mu 

3. gi 

4. kl 

5. yr 

Q56. Directions: In the question below are given four statements followed by four 

conclusions numbered I, II, III and IV. You have to take the given statements to be true 

even if they seem to be at variance with commonly known facts. Read all the conclusions 

and then decide which of the given conclusions logically follows from the given 

statements disregarding commonly known facts. 

Statements: 

All graduates are advocates. 

Some advocates are judges. 

All judges are lawyers. 

Some lawyers are doctors. 

Conclusions: 

I. Some doctors are advocates. 
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II. All graduates are judges. 

III. Some doctors are graduates. 

IV. Some lawyers are advocates. 

1. None follows 

2. Only I follows 

3. Only II follows 

4. Either III or IV follows 

5. None of these 

Q57. Directions: In the question below are given three statements followed by three 

conclusions numbered I, II and III. You have to take the given statements to be true 

even if they seem to be at variance from commonly known facts. Read all the variance 

from commonly known facts. Read all the conclusions and then decide which of the 

given conclusions logically follows from the given statements disregarding commonly 

known facts. 

Statements: 

Some tigers are lions 

Some lions are kings 

All kings are rich 

Conclusions: 

I. Some rich are tigers 

II. Some kings are tigers 

III. No rich is tiger 
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1. None follows 

2. Only III follows 

3. Only II follows 

4. Only either I or III follows 

5. None of these 

Q58. Directions: In the question below are given four statements followed by four 

conclusions numbered I, II, III and IV. You have to take the given statements to be true 

even if they seem to be at variance with commonly known facts. Read all the conclusions 

and then decide which of the given conclusions logically follows from the given 

statements disregarding commonly known facts. 

Statements: 

Some sweets are cadbury. 

Some cadbury are mints. 

Some mints are food. 

Some food is diet. 

Conclusions: 

I.  No sweets are diet. 

II. No food is cadbury. 

III. Some sweets are diet. 

IV. Some sweets are food. 

1. None follows 

2. Either I or III follows 
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3. Either III or IV follow 

4. Only II & III follow 

5. None of these 

Q59. Directions: In the question below are given three statements followed by two 

conclusions numbered I and II. You have to take the given statements to be true even if 

they seem to be at variance with commonly known facts. Read all the conclusions and 

then decide which of the given conclusion logically follows from the given statements, 

disregarding commonly known facts. 

Statements: 

All doctors are scientists. 

Some doctors are smart. 

No smart is honest. 

Conclusions: 

I. At least some doctors being honest is a possibility. 

II. All doctors, if they are smart are also honest. 

1. Only conclusion I follows. 

2. Only conclusion II follows. 

3. Either conclusion I or conclusion II follows. 

4. Neither conclusion I nor conclusion II follows. 

5. Both conclusions I and II follow. 

Q60. Directions: In the question below are given four statements followed by four 

conclusions numbered I, II, III and IV. You have to take the given statements to be true 



 

25 | P a g e  

 
 

even if they seem to be at variance with commonly known facts. Read all the conclusions 

and then decide which of the given conclusions logically follows from the given 

statements disregarding commonly known facts. 

Statements: 

Some cars are jeeps. 

All the boxes are jeeps. 

All the pens are cars. 

No car is bag. 

Conclusions: 

I. Some cars are boxes. 

II. No pen is jeep. 

III. Some boxes are bags. 

IV. Some bags being jeeps is a possibility. 

1. All follows 

2. Only I & II follow 

3. Only II & IV follow 

4. Only IV follows 

5. None of these 

Q61-65) Directions: Study the following information carefully and answer the 

questions given below: 

Seven colleagues named - Alka, Esha, Cheena, Googly, Dinky, Fanny, Bunty goes to 

different Banks: Uco, syndicate, SBI, Bank of maharashra, Bank of India, Allahabad and 
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Andhra (not necessarily in same order) and in  different months: March, April, July, 

August, January, November and December (not necessarily in same order). 

Cheena goes to Uco Bank in January. In the last month of the year, person goes to 

Andhra Bank. Esha goes in the next month of Alka who goes to Syndicate Bank. Dinky 

goes to SBI. Bunty does not go to either Bank of India or Andhra Bank. Googly goes to 

Bank of Maharashtra. Esha goes to the Bank of India. The one who goes to Bank of India 

does not go in August. The one who goes in November does not go to Syndicate bank. 

The one who goes in Allahabad bank will not go in November nor on July. The one who 

goes in SBI will go before the month of November. 

Q61. In which month Bunty goes? 

1. January 

2. July 

3. December 

4. August 

5. March 

Q62. Which of the statement is correct? 

1. Dinky – August – SBI 

2. April - bank of Maharashtra – Googly 

3. Bunty - December - bank of India 

4. Andhra - fanny – July 

5. Uco - cheena – January 

Q63. In which month Esha goes? 
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1. January 

2. March 

3. August 

4. April 

5. July 

Q64. Who goes to Andhra bank? 

1. Dinky 

2. Alka 

3. Bunty 

4. Cheena 

5. Fanny 

Q65. The person who goes between the month of August and December? 

1. Alka 

2. Googly 

3. Bunty 

4. Cheena 

5. Dinky 

Q66-70) Directions: Study the following information carefully to answer the given 

questions. 
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Six cricketers from six different nations stay in a five star hotel in different rooms. Each 

of them eats a different variety of food in a meal and hits different number of sixes in an 

average match. Now read the following clues carefully. 

The England player is staying one rooms after the Zimbabwe player who is staying one 

rooms after the South African player. The player in room no. 203 eats 12 varieties per 

meal and hits 8 sixes on an average in each match. The player from India eats 8 varieties 

less than the player from Zimbabwe but hits 10 more sixes in an average match. The 

player in room No. 205 eats 8 varieties per meal and hits 2 sixes less than the player 

from the South Africa on an average in a match. The player who eats 16 varieties per 

meal hits 24 sixes per match on an average. The player in room No. 202 eats twice as 

much as the number of varieties eaten by player, who hits an average of 8 sixes per 

match, in a meal. Four times the number of varieties in a meal eaten by the player in 

room No. 204 is lesser than the number of sixes hit by him in an average match. The 

player from Bangladesh and the player in room no. 206 eat a combined 40 varieties in a 

meal. Australia is the 6th nation. 

Q66. The player of which country hits 24 sixes on an average? 

1. India 

2. Bangladesh 

3. South Africa 

4. Australia 

5. Cannot be determined 

Q67. The player of which country is staying in room number 206? 

1. India 

2. South Africa 
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3. Australia 

4. Zimbabwe 

5. Bangladesh 

Q68. How many varieties of food is eaten by Zimbabwe player in his meal? 

1. 8 

2. 12 

3. 16 

4. 20 

5. 24 

Q69. What is the average number of sixes hit by the Indian player? 

1. 8 

2. 16 

3. 18 

4. 24 

5. 4 

Q70. In which room is the England player staying? 

1. 202 

2. 203 

3. 204 

4. 205 
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5. Cannot be determined 

Q71-75) Directions: In the following questions the symbols $, #, @, % and ⋆ are used 

with the following meanings illustrated as below. 

‘A $ B’ means ‘A is not smaller than B’. 

‘A #B’ means ‘A is neither greater than nor equal to B’. 

‘A @ B’ means ‘A is neither smaller than nor equal to B’. 

‘A % B’ means ‘A is not greater than B’. 

‘A ⋆ B’ means ‘A is neither greater than nor smaller than B’. 

In each of the following questions assuming the given statements to be true find out 

which of the three conclusions I, II and III given below them is/are definitely true and 

indicate your answer accordingly. 

Q71. Statements: T⋆ R, R @ Y, U % Y, U # F 

Conclusions: 

I. T @ U 

II. U⋆ T 

III. F @ Y 

1. Only I is true 

2. Only I and II is true 

3. Only II is true 

4. Only II and III is true 

5. None is true 
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Q72. Statements: A @ Y, Y # E, E % M, M @ O 

Conclusions: 

I. A @ M 

II. Y @ O 

III. A # E 

1. I only 

2. II and III only 

3. Either I or III only 

4. All are true 

5. None is true 

Q73. Statements: W # N, N % E, E⋆ C, C # L 

Conclusions: 

I. W # E 

II. W⋆ E 

III. N % L 

1. I only 

2. Either I or II only 

3. III only 

4. All are true 

5. None is true 
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Q74. Statements: K @ E, M % E, M $ C, D⋆ M 

Conclusions: 

I. K $ C 

II. K @ C 

III. E $ D 

1. II and III only 

2. II only 

3. III only 

4. III and either I or II 

5. None is true 

Q75. Statements: K @ U, U $ N, N⋆ C, C # R 

Conclusions: 

I. K $ N 

II. N⋆ R 

III. K @ C 

1. I only 

2. Either I or II only 

3. III only 

4. All are true 

5. None is true 
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Q76. Direction: In the following question, a question followed by three statements is 

given. You have to choose a statement that answers the question. 

Who is the father of Mohini? 

Statements: 

I. Sambit is the only brother of Mohini and son of Sangita.           

II. Sujit is the only son of Manoj. 

III. Sangita is the daughter in law of Manoj. 

1. Statement I and II are sufficient to answer the question. 

2. Statement II alone is sufficient to answer the question. 

3. Either statement I alone or statement II alone or statement III alone is sufficient 

to answer the question. 

4. All the statement I, II and III are necessary to answer the question. 

5. None of the statement I, II and III is sufficient to answer the question. 

 

Q77. Directions: The question below consists of two statements numbered I and II 

given below it. You have to decide whether the data provided in the statements are 

sufficient to answer the question. Read both the statements. 

Who among A, B, C, D and E, each having a different height, is the third tallest? 

I. E is shorter than only B. 

II. C is taller than A. D is the shortest of all. 

1. Data in statement I alone are sufficient to answer the question, while the data in 

statement II alone are not sufficient to answer the question. 
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2. Data in statement II alone are sufficient to answer the question, while the data 

in statement I alone are not sufficient to answer the question. 

3. Data either in statement I alone or in statement II alone are sufficient to answer 

the question. 

4. Data given in both the statements I & II together are not sufficient to answer the 

question. 

5. Data in both the statements I & II together are necessary to answer the question. 

Q78. Directions: The question below consists of a question and two statements I and 

II given below it. You have to decide whether the data provided in the statements are 

sufficient to answer the question. Read both the statements and give answer. 

In which direction is Nitesh walking? 

I. Nitesh walked 15 km form the starting point and took a left turn. 

II. He was walking towards North before taking a left turn. 

1. Data in statement I alone is sufficient to answer the question, while the data in 

statement II alone is not sufficient to answer the question. 

2. Data in statement II alone is sufficient to answer the question, while the data in 

statement I alone is not sufficient to answer the question. 

3. Data in statement I alone or in statement II alone is sufficient to answer the 

question. 

4. Data in both the statements I and II are not sufficient to answer the question. 

5. Data in both the statements I and II together are necessary to answer the question. 
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Q79. Directions: The question below consists of two statements numbered I and II 

given below it. You have to decide whether the data provided in the statements are 

sufficient to answer the question. Read both the statements and give answer. 

Which village is to the North – East of village ‘A’? 

I. Village ‘B is to the North of village A. Villages C and D are to the East and West of 

village B. respectively. 

II. Village ‘P’ is to the South of village ‘A’ and village ‘E’ is to the East of village ‘P’, village 

‘K’ is to the North of village ‘P’. 

1. Data in Statements I alone are sufficient to answer the question, while the data in 

Statement II alone are not sufficient to answer the question. 

2. Data in Statements II alone are sufficient to answer the question, while the data 

in Statement I alone are not sufficient to answer the question. 

3. Data either in Statement I alone or in Statement II are sufficient to answer the 

question. 

4. Data even in both statements I and II together are not sufficient to answer the 

question. 

5. Data in both Statements I and II together are necessary to answer the question. 

Q80. Directions: The question below consists of a question and three Statements I, II 

and III given below it. You have to decide whether the data provided in the statements 

are sufficient to answer the question. 

How many daughters does W have? 

I. B and D are sisters of M. 

II. M’s father T is husband of W. 
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III. Out of the three children that T has, only one is a boy. 

 

1. I and III 

2. All are required to answer the question 

3. II and III 

4. Question cannot be answered even with all 

5. I and II 

Q81. Directions: In the question below is given a statement followed by two 

assumptions numbered I and II. An assumption is something supposed or 

taken for granted. You have to consider the statement and the following 

assumptions and decide which of the assumptions is implicit in the 

statement. 

Statement: Apple recorded a growth in its iPhone sales in the year 2016. 

Assumptions: 

I. The sales of Samsung phones went down. 

II. The sales of iPhones used to be very low. 

1. Only assumption I is implicit. 

2. Only assumption II is implicit. 

3. Either assumption I or II is implicit. 

4. Neither assumption I or II is implicit. 

5. Both the assumptions I and II are implicit 
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Q82. Statement is given followed by two inferences I and II. You have to 

consider the statement to be true even if it seems to be at variance from 

commonly known facts. You have to decide which of the given inferences, if 

any, follow from the given statement? 

Narendra Modi has announced that India will no longer tolerate any nuisance from 

across the border. He said that it was high time Pakistan came in line. 

Inferences: 

I. India will soon wage a war on Pakistan. 

II. Pakistan has been given a last warning. 

1. Only inference I is true. 

2. Only inference II is true. 

3. Either inference I or II is true. 

4. Neither inference I nor II is true. 

5. Both the inferences I and II are true. 

Q83. Directions: In the question below is given a statement followed by two 

assumptions numbered I and II. An assumption is something supposed or 

taken for granted. You have to consider the statement and the following 

assumptions and decide which of the assumptions is implicit in the 

statement. 

Statement: The huge protests of citizens turned out to be all in vain as the Parliament 

today passed Section 377 that criminalizes homosexuality. 

Assumptions: 
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I. The current government is a lot intolerant and homophobic as compared to the other 

citizens. 

II. Homosexual people will now hide their identity. 

1. Only assumption I is implicit. 

2. Only assumption II is implicit. 

3. Either assumption I or II is implicit. 

4. Neither assumption I or II is implicit. 

5. Both the assumptions I and II are implicit 

Q84. Directions: In question below are given two statements (A) and (B). These 

statements may be either independent causes or may be effects of independent cause or 

a common cause. One of these statements may be the effect of the other statement. Read 

both the statements and decide which of the following answer choice correctly depicts 

the relationship between these two statements. 

(A) The central government has now decided to increase the stamp duty on house 

purchases with immediate effect. 

(B) The real estate prices have decreased considerably during the last few months. 

1. Statement (A) is the cause and statement (B) is its effect. 

2. Statement (B) is the cause and statement (A) is its effect. 

3. Both the statements (A) and (B) are independent causes. 

4. Both the statements (A) and (B) are effects of independent cause. 

5. Both statements (A) and (B) are effects of some common cause. 
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Q85. Statement is given followed by two inferences I and II. You have to 

consider the statement to be true even if it seems to be at variance from 

commonly known facts. You have to decide which of the given inferences, if 

any, follow from the given statement? 

Australia posted a mammoth target of 434 for South Africa to chase in 50 overs. 

Inferences: 

I. South Africa is more likely to win with its strong batting line up comprising of A.B D.E 

Villiers, Smith, Gibbs. 

II. Australia are firm favourites to win the match owing to their star bowlers Brett Lee, 

McGrath and Warne. 

1. Only inference I is true. 

2. Only inference II is true. 

3. Either inference I or II is true. 

4. Neither inference I nor II is true. 

5. Both the inferences I and II are true. 

Q86. Directions: In the question below is given a statement followed by two 

assumptions numbered I and II. An assumption is something supposed or 

taken for granted. You have to consider the statement and the following 

assumptions and decide which of the assumptions is implicit in the 

statement. 

Statement: The Government has introduced an ordinance which will criminalize the 

possession of old currency notes of Rs. 500 and 1000. 

Assumptions: 
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I.  New currency notes will be introduced very soon. 

II. The government wants to introduce an economic reform and wants to flush out all 

the old notes from the system. 

1. Only assumption I is implicit. 

2. Only assumption II is implicit. 

3. Either assumption I or II is implicit. 

4. Neither assumption I or II is implicit. 

5. Both the assumptions I and II are implicit. 

Q87. Red blood cells in which the malarial-fever parasite resides are eliminated from a 

person's body after 120 days. Because the parasite cannot travel to a new generation of 

red blood cells, any fever that develops in a person more than 120 days after that person 

has moved to a malaria free region is not due to malarial parasite. 

Which of the following, if true, most seriously weakens the conclusion above? 

1. The fever caused by the malarial parasite may resemble the fever caused by flu 

viruses. 

2.  The anopheles mosquito, which is the principal insect carrier of the malarial 

parasite, has been eradicated in many parts of the world. 

3. Many malarial symptoms other than the fever, which can be suppressed with 

anti-malarial medication, can reappear within 120 days after the medication is 

discontinued. 

4. In some cases, the parasite that causes malarial fever travels to cells of the spleen, 

which are less frequently eliminated from a person's body than are red blood cells. 
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5. In any region infested with malaria-carrying mosquitoes, there are individuals 

who appear to be immune to malaria. 

Q88. Directions: In the question below is given a statement followed by two 

assumptions numbered I and II. An assumption is something supposed or 

taken for granted. You have to consider the statement and the following 

assumptions and decide which of the assumptions is implicit in the 

statement. 

Statement: Mr. Oberoi signed a Do Not Resuscitate (DNR) when he was admitted for 

surgery to the hospital. 

Assumptions: 

I.  Mr. Oberoi's death is certain in the hospital if he were to suffer any fatal cardiac 

attack. 

II. Mr. Oberoi isn't happy with his life and wants to die. 

1. Only assumption I is implicit. 

2. Only assumption II is implicit. 

3. Either assumption I or II is implicit. 

4. Neither assumption I or II is implicit. 

5. Both the assumptions I and II are implicit 

Q89. Statement is given followed by two inferences I and II. You have to 

consider the statement to be true even if it seems to be at variance from 

commonly known facts. You have to decide which of the given inferences, if 

any, follow from the given statement? 
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M.S. Dhoni has resigned from the ODI captaincy of Team India. He said that the 

pressure was too much and he would like to concentrate on his personal life. He jokingly 

said that he had started getting white hair prematurely too. 

Inferences: 

I. He is irritated being a captain of Team India. 

II. The stress of captaincy had taken a toll on his family. 

1. Only inference I is true. 

2. Only inference II is true. 

3. Either inference I or II is true. 

4. Neither inference I nor II is true. 

5. Both the inferences I and II are true. 

Q90. Directions: In the question below is given a statement followed by two 

assumptions numbered I and II. An assumption is something supposed or 

taken for granted. You have to consider the statement and the following 

assumptions and decide which of the assumptions is implicit in the 

statement. 

Statement: The government wants to establish another printing press for printing the 

new currency after the existing set up was deficient for the current capacity of 2 lac 

ATMs in the country. 

Assumptions: 

I. The demand for cash is too high. 

II. The printing press is not well equipped in terms of resources and resources to handle 

the huge cash demand. 
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1. Only assumption I is implicit. 

2. Only assumption II is implicit. 

3. Either assumption I or II is implicit. 

4. Neither assumption I or II is implicit. 

5. Both the assumptions I and II are implicit 

Quantitative Aptitude 

Q91. The ratio of savings and expenditure of Lucy in a month is 2 : 7. On the other 

hand, the ratio for her husband is 1 : 3. If Lucy starts saving Rs. 1000 more, then savings 

of both of them will become same. The total expenditure they both make in a month is 

Rs. 16000. Find the total amount of savings they do in a year. 

1. Rs. 48000 

2. Rs. 60000 

3. Rs. 36000 

4. Rs. 72000 

5. Rs. 78000 

Q92. At his usual rowing rate, Anil can travel 12 miles downstream in a certain river 

and takes 6 hours less than to travel the same distance upstream. But if he could double 

his usual rowing rate for his 24 - mile round trip, the downstream 12 miles would then 

take only one hour less than the upstream 12 miles. What is the speed of the current in 

miles per hour? 

1. 2
1

3
𝑚𝑝ℎ 
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2. 1
1

3
𝑚𝑝ℎ 

3.1
2

3
𝑚𝑝ℎ 

4.2
2

3
𝑚𝑝ℎ 

5. None of these 

Q93. The average salary per head of all the workers in a company is Rs. 90. The average 

salary of 12 officers is Rs. 520 and the average salary per head of the rest is Rs. 80. Find 

the total number of workers in the workshop. 

1. 660 

2. 880 

3. 650 

4. 460 

5. 528 

Q94. Length and breadth of a rectangular field is 130 m and 90 m, respectively. Inside 

it, a road of uniform width 15 m is left on all the sides. In the remaining part, a park is 

made. What is the area of the road? 

1. 5500 m2 

2. 5800 m2 

3. 5600 m2 

4. 5700 m2 

5. None of these 
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Q95. A and B working separately can do a piece of work in 9 and 12 days respectively. If 

they work a day alternately, A beginning, in how many days the work will be completed? 

1. 10
1

2
 

2. 10
1

5
 

3. 10
1

4
 

4. 10
2

3
 

5. None of these 

Q96. What will come in place of the question mark (?) in the following number series? 

13   14   21   42   85   (?) 

1. 235 

2. 119 

3. 158 

4. 222 

5. None of these 

Q97. In the following number series, only one number is wrong. Find out the wrong 

number. 

1  6  33  165  740  2970  10395 

1. 33 

2. 6 

3. 1 
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4. 740 

5. None of these 

Q98. What will come in place of the question mark (?) in the following number series? 

240  120  90  90 (?) 168.75 

1. 113.5 

2. 113 

3. 112.5 

4. 112 

5. None of these 

Q99. Find out the wrong term in the following number series. 2, 10, 30, 68, 125, 222 

1. 2 

2. 30 

3. 222 

4. 125 

5. None of these 

Q100. Find the wrong term in the following number series: 

7    37    91   167    271    397 

1. 37 

2. 91 

3. 167 
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4. 271 

5. 397 

Q101-105) Direction: - Read the following table carefully and answer the 

related questions to it. 

Year 
Number of 

Students 
Girls: boys Pass boys Fail girls 

2011 3000 7 : 8 65% 20% 

2012 4000 5 : 3 50% 15% 

2013 9000 2 : 7 55% 15% 

2014 3600 3 : 1 52% 20% 

2015 4200 2 : 1 70% 15% 

Q101. What was the percent of boys who failed in the year 2015 amongst the total 

number of students who failed? 

1. 84% 

2. 40% 

3. 50% 

4. 80% 

5. None of these 

Q102. What was the percentage of the number of girls who failed as compared with the 

number of boys who passed in the year 2012? 

1. 50% 
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2. 53% 

3. 52% 

4. 56% 

5. None of these 

Q103. What was the number of boys who failed in examination in the year 2014? 

1. 432 

2. 430 

3. 420 

4. 425 

5. None of these 

Q104. What was the ratio of the number of girls appeared in examination in the years 

2012 and 2015? 

1. 16 : 19 

2. 20 : 21 

3. 25 : 28 

4. 20 : 22 

5. None of these 

Q105. How many girls passed in the exam in the year 2011? 

1. 1120 

2. 1540 

3. 1430 
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4. 1890 

5. None of these 

Q106. How much rice worth price Rs. 12.85 per kg be mixed with 25 kg of rice worth 

Rs. 14.80 per kg so as to when they sell the rice at Rs. 16 per kg, they get profit of 15% on 

selling price? 

1. 30 kg 

2. 35 kg 

3. 40 kg 

4. 45 kg 

5. None of these 

Q107. Aditya and Bimal are partners in a firm out of which Aditya is Sleeping partner 

and Bimal is working partner. Aditya invests Rs. 60, 000 and Bimal invests Rs. 50, 000. 

Bimal receives 12.5 % of profit for managing the business and balance is shared between 

them in ratio of their investments. Bimal’s share of profit in profit of Rs. 8800 is 

1. 3500 

2. 3750 

3. 4000 

4. 4200 

5. 4600 

Q108. Jenny is 28 years younger than her mother, and will be half of her father’s age 

after 23 years. Her father is 2 years elder than her mother. What was the age of Jenny’s 

mother 3 years back? 
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1. 29 years 

2. 32 years 

3. 35 years 

4. 37 years 

5. 34 years 

Q109. What should come in place of the question mark (?) in the following question? 

 [63 × 92] ÷ (24 + 2) =? 

1. 1458 

2. 972 

3. 8748 

4. 162 

5. None of these 

Q110. The simplification of [
3

2
+

1

2
{

3

4
−

1

2
(

7

8
−

3

4
)}] yields  

1. 27/16 

2. 59/32 

3. 27/64 

4. 107/112 

5. 27/32 

Q111. What should come in place of the question mark (?) in the following question? 

(50% of 8.4 × 25) ÷ (24 × 4.5 ÷ 3) =? 
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1. 5.9 

2. 5.6 

3. 6.1 

4. 4.8 

5. None of these 

Q112. What approximate value will come in place of the question mark (?) in 

following equation? 

42.07 × 7.998 + (?)2 = 202 

1. 6 

2. 12 

3. 32 

4. 64 

5. 8 

Q113. What approximate value will come in place of the question mark (?) in the 

following equation? 

179.99 ÷ 3.001 × 2.005 = ? 

1. 45 

2. 120 

3. 30 

4. 150 

5. 11 
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Q114.  A factory produces four different types of products, P, Q, R and S. The chances 

that a random piece of products P, Q, R and S is found to be defective are 20%, 30%, 5% 

and 10%, respectively. During an inspection, one piece of each product is randomly 

selected. What is the probability that exactly three of them are found to be defective? 

1. 0.005 

2. 0.0103 

3. 0.0124 

4. 0.0057 

5. 0.0178 

Q115. The amount of concrete required to build a concrete cylindrical pillar whose base 

has a perimeter of 8.8 m and whose curved surface area is 26.4 m2 is [use π = 22/7]: 

1. 8.352 cu. M 

2. 9.725 cu. M 

3. 10.50 cu. M 

4. 18.48 cu. M 

5. 34.51 cu. M 

Q116. A money-lender borrows money at 3% per annum and pays the interest at the 

end of the year. He lends it to another person at 6% per annum compound interest 

compounded half yearly and receives the interest at the end of the year. In this way, he 

gains Rs. 618 a year. The amount of money he borrows, is 

1. Rs. 12,000 

2. Rs. 10,500 
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3. Rs. 20,000 

4. Rs. 15,500 

5. None of these 

Q117-121) Directions: Study the following information carefully to answer the 

questions that follow. 

There are two hotels Amir Plaza and Baugban. Both hotels have four different types of 

suits viz. Non AC suits, Regular suits, Deluxe suits and Super deluxe suits. In Amir 

Plaza, there are total 700 customers. 

Baugban has 30% more customers than Amir Plaza. 20% of the customers of Amir Plaza 

are staying in Non AC suits. One-fourth of the total number of customers of Amir Plaza 

are staying in Super Deluxe suits. 23% of the customers of Amir Plaza are in staying in 

Regular suits. 

Remaining customers of Amir Plaza are staying in Deluxe suits. Total number of 

customers staying in Super Deluxe suits in both the trains together is 480. 

30% of the number of customers of Baugban is in Regular suits. 10% of the total 

customers of Baugban are staying in Deluxe suits. 

Q117. If fare of deluxe suit for one day is Rs. 550, what total amount will be generated 

from deluxe suits of Amir Plaza in one day? 

1. Rs. 1000080 

2. Rs. 1232000 

3. Rs. 123200 

4. Rs. 12320 

5. None of the above 
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Q118. Total number of customers in Non AC suits in both the hotels together is 

approximately what percentage of total number of customers in Amir Plaza? 

1. 35% 

2. 54% 

3. 45% 

4. 38% 

5. 31% 

Q119. What is the difference between the number of customers staying in Super Deluxe 

suits in Amir Plaza and total number of Customers staying in Regular and Deluxe suits 

together of Baugban? 

1. 199 

2. 178 

3. 187 

4. 179 

5. None of these 

Q120. What is sum of the total number of customers staying in the Non AC suits of 

Amir Plaza and the Super Deluxe suits of Baugban together? 

1. 449 

2. 459 

3. 435 

4. 445 
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5. None of these 

Q121. What is the ratio of the number of customers staying in Regular suits of Baugban 

to the number of customers staying in Deluxe suits of Amir Plaza? 

1. 13 : 7 

2. 7 : 13 

3. 39 : 32 

4. Data inadequate 

5. None of the above  

Q122. Direction: Below question consists a question and two statements numbered I 

and II are given below it. You have to decide whether the data provided in the 

statements are sufficient to answer the question Read both the statement and Give 

answer. 

What is Siddhi’s age? 

I. Siddhi is 3 times younger than Rani. 

II. Suresh is twice the age of Rani and the sum of their ages is 72. 

1. The data in Statement I alone are sufficient to answer the question, while the 

data in Statement II alone are not sufficient to answer the question. 

2. The data in statement II alone are sufficient to answer the question, while the 

data in Statement I alone are not sufficient to answer the question. 

3. The data in statement I alone or statement II alone are sufficient to answer the 

question. 

4. The data either in Statement I alone or in Statement II alone are not sufficient 

to answer the question 
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5. The data either in both the statement I and II together are necessary to answer 

the question. 

Q123. Direction:- Below question is followed by two statements I and II. You have to 

determine whether the data given in the statements are sufficient for answering the 

question. You should use the data your knowledge of Mathematics to choose between 

the possible answers 

What is the minimum passing percentage in a test? 

I. Abhishek scored 162 marks in a test and failed by 104 marks 

II. The maximum marks of the test are 538 more marks obtained by Abhishek 

1. The statement I alone is sufficient to answer the question but the statement II 

alone is not sufficient 

2. The statement II alone is sufficient to answer the question but the statement I 

alone is not sufficient 

3. Both statements I and II together are needed to answer the question 

4. Either to statement I alone or statement II alone is sufficient to answer the 

question 

5. You cannot get the answer from the statement I and II together but need even 

more data 

Q124. Direction: The given question consists of two statements (i) and (ii). You have 

to decide whether the provided statements are sufficient to answer the question. Read 

both the statements and choose the appropriate option. 

What is the length of the diagonal of a cuboid? 

Statements: 
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i. The dimensions of a cuboid are in the ratio of 2 : 3 : 4 and the volume of the cuboid is 

5184 m3. 

ii. Total surface area of cuboid is 2062 m2.     

1. The data in statement (ii) alone is sufficient to answer the question. While the 

data in statement (i) alone is not sufficient to answer the question. 

2. The data either in statement (i) alone or in statement (ii) alone is sufficient to 

answer the question. 

3. The data in statement (i) alone is sufficient to answer the question. While the 

data in statement (ii) alone is not sufficient to answer the question. 

4. The data in both statements (i) and (ii) together is necessary to answer the 

question. 

5. The data in both statements (i) and (ii) together is not sufficient to answer the 

question.  

Q125. Directions: Below question is followed by two statements labelled I and II. 

Decide if these statements are sufficient to conclusively answer the question. Choose the 

appropriate answer from the options given below: 

What is the value of x? 

I. log (X2 + 4X + 4) = 2 

II. (X3 – X2) = 448 

1. Statement I alone is sufficient to answer the question. 

2. Statement II alone is sufficient to answer the question. 

3. Statement I and Statement II together are sufficient, but neither of the two 

alone is sufficient to answer the question. 
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4. Either Statement I or Statement I alone is sufficient to answer the question. 

5. Neither Statement I nor Statement II is sufficient to answer the question. 

Q126. Given below is a question and two statements numbered I and II given below it. 

You have to decide whether the data provided in the statements is sufficient to answer 

the question. You should use the given data and your knowledge of Mathematics to 

choose between the possible answers. 

What is the profit percentage that Mark earned in a transaction? 

I. The discount given by Mark is 20%. 

II. The ratio of cost price and marked price is 1:3. 

1. The data in statement I alone is sufficient to answer the question, while the 

data in statement II alone is not sufficient to answer the question. 

2. The data in statement II alone is sufficient to answer the question, while the 

data in statement I alone is not sufficient to answer the question. 

3. The data in statement I alone or in statement II alone is sufficient to answer 

the question. 

4. The data in both the statements I and II is not sufficient to answer the 

question. 

5. The data in both the statements I and II together is necessary to answer the 

question. 

Q127. A train goes from Lucknow to Delhi at a speed of 128 km/h and returns to 

Lucknow at a different speed. If the average speed for the entire journey is 112 km/h, 

then find the speed of the train for the return journey (to nearest km/h). 

1. 90 km/h 
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2. 900 km/h 

3. 100 km/h 

4. 1000 km/h 

5. 200 km/hr 

Q128. A solid cylinder has a total surface area of 231 cm2. It its curved surface area is 

two thirds of the total surface area, the volume of the cylinder is 

1. 269.5 cm2 

2. 385 cm2 

3. 308 cm2 

4.  363.4 cm2 

5. 364.4 cm2 

Q129. A tank is provided by two taps A and B. A can fill it in 25 minutes and B in 20 

minutes. Both the taps are kept open for 5 minutes and then the first is turned off. The 

tank will be completely filled in another? 

1. 11 minutes 

2. 10 minutes 

3. 15 minutes 

4. 12 minutes 

5. None of these 

Q130. A shopkeeper purchased 150 pieces of calculators at the rate of 250 each. He 

spent Rs 2500 on transporting. He fixed the labeled price of each calculator at Rs 320. 
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However, he decided to give a discount of 5% on the labeled price. What is the percent 

profit earned by him? 

1. 12% 

2. 13% 

3. 14% 

4. 16% 

5. None of these 

Q131. Given below are two quantities named A and B. Based on the given information, 

you have to determine the relation between the two quantities. You should use the given 

data and your knowledge of Mathematics to choose between the possible answers. 

Quantity A: Profit percent when an article of cost price Rs. 140 is sold for Rs. 168. 

Quantity B: Percentage discount availed by customer when he buys an article with 

marked price Rs. 2000 for Rs. 1800. 

1. Quantity B > Quantity A 

2. Quantity B < Quantity A 

3. Quantity B ≥ Quantity A 

4. Quantity B ≤ Quantity A 

5. Quantity B = Quantity A 

Q132. Given below are two quantities named A and B. Based on the given information, 

you have to determine the relation between the two quantities. You should use the given 

data and your knowledge of Mathematics to choose between the possible answers. 
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Quantity A: Area of a rectangle (in cm2) having sides in ratio 3 : 5 and difference of 

sides 10 cm 

Quantity B: Area of a circle (in cm) having circumference 66 cm 

1. Quantity B > Quantity A 

2. Quantity B < Quantity A 

3. Quantity B ≥ Quantity A 

4. Quantity B ≤ Quantity A 

5. Quantity B = Quantity A  

Q133. Given below are two quantities named A and B. Based on the given information, 

you have to determine the relation between the two quantities. You should use the given 

data and your knowledge of Mathematics to choose between the possible answers. 

Quantity A: Difference of squares of largest two-digit odd number and smallest two-

digit odd number 

Quantity B: 79 times the square of smallest two-digit odd number 

1. Quantity B > Quantity A 

2. Quantity B < Quantity A 

3. Quantity B ≥ Quantity A 

4. Quantity B ≤ Quantity A 

5. Quantity B = Quantity A 

Q134. Given below are two quantities named A and B. Based on the given information, 

you have to determine the relation between the two quantities. You should use the given 

data and your knowledge of Mathematics to choose between the possible answers. 
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Quantity A: Ankit's annual savings if he spends 48% of his monthly salary on daily 

needs and 32% on entertainment and saves the rest of the amount, where his monthly 

salary is Rs. 25000. 

Quantity B: The principal for which simple interest for 5 years at 4% per annum would 

be Rs. 10000 

1. Quantity B > Quantity A 

2. Quantity B < Quantity A 

3. Quantity B ≥ Quantity A 

4. Quantity B ≤ Quantity A 

5. Quantity B = Quantity A 

Q135. Given below are two quantities named A and B. Based on the given information, 

you have to determine the relation between the two quantities. You should use the given 

data and your knowledge of Mathematics to choose between the possible answers. 

Quantity A: If Rajeev's monthly income is 20% less than that of Raghu and Raghu's 

monthly income is 25% less than that of Rannvijay, then the difference between Rajeev 

and Rannvijay's Annual income, Given that Raghu's monthly income is Rs. 60000. 

Quantity B: The principal for which simple interest for 5 years at 5% per annum would 

be Rs. 50000. 

1. Quantity B > Quantity A 

2. Quantity B < Quantity A 

3. Quantity B ≥ Quantity A 

4. Quantity B ≤ Quantity A 

5. Quantity B = Quantity A 
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Q136-140) Directions: Study the following pie – charts carefully to answer the 

question that follow: 

Percentage of students enrolled in different streams in a college 

Total number of student = 3,500 

 

Percentage break-up of girls enrolled in these streams out of the total students 

Total number of girls = 1,500 
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Q136. The number of girls enrolled in Arts, Science and Commerce form what percent 

of total number of students in the college? 

1. 25 

2. 30 

3. 60 

4. 75 

5. None of these 

Q137. If 20% of the girls enrolled in Science change their stream to Management then 

what will be the new number of Management Students altogether? 

1. 593 

2. 733 
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3. 453 

4. 1003 

5. None of these 

Q138. What is the total number of girls enrolled in science and Commerce together? 

1. 450 

2. 495 

3. 345 

4. 480 

5. None of these 

Q139. What is the ratio of the number of girls enrolled in Arts to the number of boys 

enrolled in Science? 

1. 14:23 

2. 2:3 

3. 114:121 

4. 53:65 

5. None of these 

Q140. What is the total number of boys enrolled in Management and IT together? 

1. 1050 

2. 810 

3. 1120 

4. 980 
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5. None of these 

Computers 

Q141. Which step takes place when the information is entered into a memory location? 

1. It will add to the content of the location 

2. It will change the address of the memory location 

3. It will erase the previous content 

4. It will not be fruitful if there is already some data at the location 

5. None of these 

Q142. The information of credit and debit card are stored on ? 

1. Magnetic strip card 

2. Mega strip card 

3. Magnetic information card 

4. Magnetic data card 

5. None of these 

Q143. In Windows ME, what does ME stand for? 

1. Millennium-Edition 

2. Micro-Expert 

3. Macro-Expert 

4. Multi-Expert 

5. My-Expert 

Q144. Which of the following from the mentioned options is not true about computer 

files? 
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1. They are a collection of data saved in a storage medium 

2. Every file has a file name 

3. A file extension is established by the user to indicate the computer on which it 

was created 

4. All files contain data 

5. none of these 

Q145. The name of a Microsoft Office Word document is displayed in both the taskbar 

and ? 

1. Menu bar 

2. Task bar 

3. Formatting toolbar 

4. Standard toolbar 

5. Title bar 

Q146. What kind of a device is trackball? 

1. Programming device 

2. Pointing device 

3. Output device 

4. Software device 

5. Printing device 

Q147. Antivirus software is an example of… 

1. Business software 

2. An operating system 

3. A security utility 

4. An office suite 

5. None of these 
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Q148. __ is used to display information such as title, page number of the document? 

1. Insert Table 

2. Autocorrect 

3. Thesaurus 

4. Spelling and Grammar 

5. Header and Footer 

Q149. The display size of a monitor is measured in direction 

1. Zigzag 

2. Horizontally 

3. Vertically 

4. From centre to the further corner 

5. None of these 

Q150. What is the full form of VLSI? 

1. Versatile Logic Solution Integration 

2. Very Low Scale Integration 

3. Video Loop System Integration 

4. Very Large Scale Integration 

5. None of the above 

Q151. Excel ___ charts represents only one value for each variable. 

1. Function 

2. Line 

3. Pie 

4. Bar 

5. None of these 
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Q152. Operating systems and utility programs are in a class of software known as which 

of the following mentioned options? 

1. Application software 

2. Sequential software 

3. Software suites 

4. BIOS software 

5. System software 

Q153. An HTTP request contains how many parts? 

1. 2 

2. 5 

3. 4 

4. 3 

5. 1 

Q154. FORTRAN stands for? 

1. Formal Translation 

2. Formative Translation 

3. Formal Transaction 

4. Formative Transaction 

5. Formula Translation 

Q155. A byte can represent any number between 0 and which of the following 

mentioned options? 

1. 2 

2. 255 

3. 256 

4. 1024 
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5. 1025 

Q156. What are the contents of a URL? 

(i) Protocol used 

(ii) Domain name of server hosting web page 

(iii) Name of folder with required information 

(iv) Name of document formatted using HML 

(V) The name of ISP 

1. i, ii, iii, iv 

2. ii, iii, iv, v 

3. i, ii, iv 

4. i, ii, iii, v 

5. None of these 

Q157. What is access control based on a person’s fingerprints known as 

1. Biometric identification 

2. Characteristics identification 

3. Characteristics security 

4. Fingerprint security 

5. Logistics 

Q158. Which of the following printer prints data or images by spraying small droplets 

of ink at high speed onto the surface of the paper? 

1. Ink jet printer 

2. Leger printer 

3. Dot-matrix printer 

4. Dram printer 
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5. None of the above 

Q159. The key F12 opens a 

1. Save As dialog box 

2. Open dialog box 

3. Save dialog box 

4. Close dialog box 

5. None of above 

Q160.Which search methods is conducted for a specific title, domain, URL or host 

1. Keyword 

2. Field 

3. Boolean 

4. Miscellaneous 

5. Logical 

General Awareness 

Q161. What is the amount the Ministry of Skill Development and Entrepreneurship has 

given to the Pradhan Mantri Yuva Yojana? 

1. Rs 503.12 crore 

2. Rs 288.08 crore 

3. Rs 602.14 crore 

4. Rs 715.23 crore 

5. Rs 499.94 crore 

Q162. What is meant by Cyber Law? 
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1. That cipher is the starting point is arithmetic 

2. Law relating to electronic media 

3. Testing of atomic weapons 

4. Law relating to space 

5. None of the above 

Q163. Leonard Cohen who passed away on November 10 was a _____. 

1. Painter 

2. Journalist 

3. Politician 

4. Singer 

5. Sportsperson 

Q164. What is full form of PAN? 

1. Product Account Number 

2. Permanent Account Number 

3. Payment Account Number 

4. Above all 

5. None of the above 

Q165. What is meant “By Technical NPA”? 

1. A loan account becoming NPA for non – renewal 

2. A loan account becoming NPA for not obtaining stock statements 

3. Non- recording the due date after re-phasing / restructuring of a loan account 

4. All of the above 

5. None of the above 

Q166. Which among the following terms describe the ‘Universal banking’? 

1. Branches of Bank in all major from of the world. 
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2. A bank providing services in all geographical territories of its country 

3. A bank providing combination of commercial banking and investment 

banking 

4. None of these 

5. All of the above 

Q167. MUDRA is a 

1. Govt. scheme related to fiscal policy 

2. Bank 

3. Govt. office where currency is printed 

4. 2) and 3) 

5. None of the above 

Q168. The RBI on November 8 unveiled new currency notes in the denomination of 

Rs.____ and Rs.____. 

1. 500,2000 

2. 50,100 

3. 20,10 

4. 10,50 

5. 50,1000 

Q169. What are the advantages of securitization for a Bank? 

1. It provides liquidity to the issuing Bank 

2. The Bank capital does not get blocked 

3. Securitization proceeds can be used for fresh lending 

4. All of the above 

5. Only A & B 

Q170. What is to certify that any bill is a money Bill? 
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1. One Crore 

2. Two Crore 

3. Three Crore 

4. Five Crore 

5. None of the above 

Q171. Which country has become the first nation to subsidise the use of digital cash? 

1. USA 

2. India 

3. Japan 

4. Sweden 

5. Mexico 

Q172. Which agent acts as the bank for Government business? 

1. Union and State Government 

2. Reserve Bank of India 

3. State Bank of India 

4. Both A and B 

5. None of the above 

Q173. What takes place in Bullion Market? 

1. Golds are purchased and Sold 

2. Books are purchased and sold 

3. Animals are purchased and sold 

4. Only A&B 

5. None of these 

Q174. When is World Toilet Day observed? 

1. November 18 
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2. November 20 

3. November 19 

4. November 15 

5. November 17 

Q175. National Pension Scheme is monitored by 

1. NSE 

2. IRDA 

3. RBI 

4. EPFO 

5. None of the above 

Q176. What does Personal Banking include? 

1. Deposits 

2. Insurance 

3. Investment 

4. Above all 

5. None of the above 

Q177. Loan and advances of bank come under which of the following category? 

1. Assets 

2. Liabilities 

3. Costs 

4. None of these 

5. All of the above 

Q178. Federal Bank has received the RBI's permission to open its first international 

branch in which city? 

1. Barcelona 
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2. Osaka 

3. Tel Aviv 

4. Frankfurt 

5. Dubai 

Q179. Who is the chairman of the Group constituted by the RBI to examine major 

issues relating to restructuring of Regional Rural Banks? 

1. M. C. Bhandari 

2. N. K. Thingalaya 

3. Y. S. P. Thorat 

4. Sudhir Srivastava 

5. None of the above 

Q180. Who has been appointed as Executive Director(ED) of the RBI? 

1. G Mahalingam 

2. Ram Vinay Shahi 

3. Medini Ray 

4. M Rajeshwar Rao 

5. Abbas Musliyar 

Q181. ‘Pure Banking, Nothing Else’ was raised by which bank? 

1. ICICI Bank 

2. HDFC Bank 

3. SBI 

4. UTI Bank 

5. AXIS Bank 

Q182. ‘Where every individual is committed’ is the tagline of 

1. South Indian Bank 
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2. Punjab and Sind Bank 

3. UCO Bank 

4. Oriental Bank of Commerce 

5. None of the above 

Q183. Under what category of risk does Computer system failure fall? 

1. Credit Risk 

2. Operational Risk 

3. Technology Risk 

4. Security Risk 

5. None of the above 

Q184. Name the electronics company which will acquire auto-systems maker Harman 

for $8 billion. 

1. LG 

2. CEITEC 

3. Samsung 

4. Henkel 

5. Sanyo 

Q185. Who is Prospect Customers? 

1. Potential Customer 

2. Present Customer 

3. Staff 

4. Sellers 

5. None of these 

Q186. Which of the following is the example of the brand of SBI? 

1. SBI Mutual Fund 
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2. Saving and Current Deposits 

3. Car Loan 

4. Home Loan 

5. None of the above 

Q187. What is the full form of ECB? 

1. Extra Commercial Banking 

2. Extra Commercial Borrowings 

3. External Commercial Borrowings 

4. None of these 

5. All of the above 

Q188. What is the full form of EOQ? 

1. Evaluation – on – Quality 

2. Even – on – Quality 

3. Economic order Quantity 

4. Evaluation of quantity 

5. None of the above 

Q89. Which of the following is the Private Banks? 

1. SBI 

2. PNB 

3. HDFC 

4. above all 

5. None of the above 

Q190. The seventh session of the Conference of the Parties (COP7) is being held in 

which Indian city? 

1. Mumbai 
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2. Chennai 

3. Bengaluru 

4. Bhopal 

5. New Delhi 

Q191. Which company has bagged aRs 334-crore order from SBI to install over 7,000 

cash-vending machines? 

1. Kodenshi AUK Group 

2. CA Technologies 

3. NCR Corporation 

4. Genpact 

5. Satoshi Citadel Industries 

Q192. Name the oil and gas company which has setup a Rs. 50 crore fund to encourage 

new ideas related to the oil and gas sector. 

1. Aban Offshore 

2. Bharat Petroleum 

3. Bongaigaon Refinery and Petrochemicals 

4. Ratnagiri Gas and Power 

5. OIL 

Q193.What are ATMs? 

1. Branches of banks 

2. Bank’s Chairman 

3. A religious Leader 

4. A bank’s Marketing Staff 

5. All of the above 

Q194. What is Loan against commodities? 
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1. are not allowed by banks except with the prior approval of RBI 

2. are not popular in India 

3. Have been one of the earliest forms of bank advances 

4. are allowed only to approved parties 

5. None of the above 

Q195. Which among the following is correct regarding call option and put option in 

currency markets? 

1. Call option is for sellers and put option is for buyers 

2. Call option is for buyers and put option is for sellers 

3. Both A and B 

4. None of these 

5. All of the above 

Q196. The pace of highway construction in the month of October is ___km/day. 

1. 22.3 

2. 29.1 

3. 20.4 

4. 23.6 

5. 28.8 

Q197. Name the Chief Operating Officer(COO) of Twitter who resigned on November 9. 

1. Anthony Noto 

2. William Joel Bryan 

3. David H. McNerney 

4. Adam Bain 

5. Billy Waugh 
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Q198. The government will impose a levy of Rs._____ per flight on major routes to 

fund the UDAN (UdeDeshkaAamNaagrik) scheme. 

1. 8000 

2. 7000 

3. 7500 

4. 9900 

5. 8500 

Q199. Where was the First share market in India was established? 

1. Delhi 

2. Kolkata 

3. Mumbai 

4. Chennai 

5. Hyderabad 

Q200. Who won the 2016 ATP World Tour Final? 

1. Novak Djokovic 

2. Raven Klaasen 

3. Milos Raonic 

4. Andy Murray 

5. David Goffin 
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